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Program list

JOB

LET A**5=1;

At*4:=— (A**3+A%X*24A+]) ;
JO:=Z1— (A+A**4)*732;
JL1:=Z1-A* (A+A**4)*72;
J2:=Z1-A**2% (A+A**4)*22;
J3:=Z1-A**3* (A+A%*4)*22;
J4:3=Z1-A**4% (A+A%*4) *232;
KO:=Z1-(A**2+A%*3)*22;
Kl:=Z1-A% (AX¥24A%*3)*22;

K2:=Z1-A**2* (A**2+A%*3)*72;

K3:=Z1-A**3% (A**QpA**x3) %27,
K4:=Z1-A**4* (A*X*Q4p%*3) %72,
F:=Z21*Z2*J0*J1*J2*J3*J4*KO*K1*K2*K3*K4;
CLEAR J0,J1,32,33,J4,K0,K1,K2,K3,K4;
MATRIX M1(2,2),M2(2,2);
All:=DF(F,21,2);
Al2:=DF(F,21,22);
A21:=DF(F,Z22,21);
A22:=DF(F,22,2);
M1:=MAT((All,ALl2),(A21,A22));
DET(M1) ;

CLEAR Al1l,A12,A21,A22;
H:=(DET(M1))/(121);

CLEAR M1;

All:=DF(F,Z1);

Al2:=DF(F,22);

A21:=DF(H,Z1);

A22:=DF(H,Z22);
M2:=MAT((A1l,Al12),(A21,A22));
DET(M2) ;

CLEAR AX1,Al2,A21,A22;
J:=(DET(M2))/(292);
J**24H**3-1728*F**3;

X:=J;

Y:=H;

Z:=(-1728)**(1/5)*F;
X**24Y**34Z**5;

END;

LET A**35=]1;
A**di=o (A%*34+A**24A+]) ;

4 3 2
A = - (A +A +A+1)

JO:=Z1- (A+A**4)*22,;

3 2
JO = A *Z2 + A *Z2 + Z1 + 22

J1:=Z1-A* (A+A**4)*Z22;

2
Jl := - A *22 + Z1 -~ Z2

J2:=Z1-A**2* (A+A**4)*722;

3
J2 1= = A *Z2 - A*Z2 + Z1

J3:=Zl—A**3*(A+A**4)*ZZ;

3
J3 = A *Z2 + A*Z2 + Z1 + Z2

J4:1=Z1-A**4* (A+AR#4) #22;

3
J4 = - A %22 + Z1 - 22
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KO:=Z1- (A¥*24A%*3)*22;

3 2
KO := - A *Z2 - A *Z2 + Z1

Kl:=Z1l~A* (A®*2+A%*3)*22;

2
Kl := A *22 4+ A*Z2 + Z1 + 12

KZ:____Zl_niﬁrz* (A**2+A**3)*227

3 2
2 := A *Z2 + A *Z2 + A*Z2 + Z1

=

K3:=Z1=A**3% (AX*24A**3) %22,

K3 := = A*Z2 + 2Z1 - Z2

K4:=ZLl-A%*4* (A**2+A**¥3) *22;

2
K4 := = A *22 - A*Z2 + 21
g;=z1*2z*JO*Jl*JZ*J3*J4*K0*K1*K2*K3*K4;
190 5 5 10

F o= Z1*72*(Z1 + 11*zZ1 *Z2 - 22 )
CLEAR J0,J1,32,33,34,K0,K1,K2,K3,K4;
MATRIX M1(2,2),M2(2,2);
All:=DF(F,21,2);

4 E 5
All := 110%Z1 *Z2*(Z1 + 3%Z2 )

Al2:=DF(F,Z1,22);

12 5 5 190
Al2 = 11%*(21 + 36%Z1 *Z2 -~ Z2 )

A21:=DF(F,22,Z1);

13 5 5 190
A21 := 11*(21 + 36*Z1 *22 - 22 )

A22:=DF(F,Z22,2);

4 5 5
A22 = 110*Z1%*Z2 *(3*Z1 - 22 )

M1:=MAT((All,ALl2),(A21,A22));

4 5 5
M1(1,1) := 110%Z1 *Z2*(Z1 + 3*22 )
10 5 5 19
MLI(1,2) = 11*(Z21 + 36*Z1 *Z2 -~ 22 )
10 5 5 10
M1(2,1) := 11*(Z1 + 36*Z21 *Z2 - Z22 )
4 5 5
M1(2,2) = 110%Z1*Z2 *(3*Z)1 =~ Z2 )
DET(M1);
290 15 5 10

121*%( - 21 + 228*Z1 *Z2 - 494*71 *22
CLEAR All,Al2,A21,A22;
H:=(DET(M1))/(121);

20 15 5 10
H s= = Z1 + 228%Z1 *Z2 -~ 494%*Z1 =222

10

10

- 228%71

- 228*Z71

5

5

#72

#7272

i5

15



CLEAR M1;
All:=DF(F,21);

10 5 5 10

All := Z2*(1l1*Z1 + 66%Z1 *Z2 - 22 )
Al2:=DF(F,22);

10 5 5 10
Al2 = Z1*(Z1 + 66*Z1 *Z2 - 11*Z2 )
A21:=DF(H,Z1);

4 15 19 5 5 10 15
A21 1= 20*21 *( - 21 + 171*21 *Z2 - 247%Z1 *Z72 = 57%22 )
A22:=DF(H,22);

4 15 10 5 5 10 15
A22 := 20%22 *(57*Z1 - 247%21 *Z2 - 171%21 *Z2 = 22 )

M2:=MAT((All,Al2),(A21,A22));

10 5 s 10
M2(1,1) := z2*(11%Z1 + 66%Z1 *22 - 22 )
10 .5 s 13
M2(1,2) := Z1*(Z1 + 66%Z1 *22 =- 11%*22 )
‘ 4 15 10 s 5 10 15
M2(2,1) = 20%Z1 *( - Z1 4 171%Z1 #*22 - 247%Z1 *22 - 57%12 )
4 15 19 5 5 19 15
M2(2,2) t= 20%22 *(57%Z1 - 247%*z1 *72 - 171%Z1 %22 - 22 )
DET (M2) ;
39 25 5 20 10 19 20 5 25
20%(Z1  + 522*Z1 *22 - 10005%Z1 *Z2 - 10005%Z1 #22 - 522%21 %22

CLEAR All,Al2,A21,A22;
J:=(DET(M2))/(29);

393 25 5 20 10 190 20 5 2
J = 71 + 522*21 *Z2 - 1030035%Z1 *Z2 - 10005%21 %72 -~ 522%Z1 *Z2

w

J**Z+H**3-1728*F**3;

0
X:=J;
32 25 5 20 10 10 23 5 235
X = Z1 + 522*Z1 *Z2 - 109005%Z1 *Z2 -~ 10005%21 *Z2 = 522*%Z1 *Z2
Y:=H;
290 15 5 10 19 5 15 20
Y := - 121 + 228*Z1 *Z2 - 494*Z) *Z2 -~ 228%Z1 *Z32 - 22

Z:=(-1728)**(1/5)*F;

(1/5} 10 5 5 19
Z = ( - 1728) *Z1*Z2* (21 + 11*%*z1 *22 - 22 )

K**Q4y**347%%5;
0

END;

+

22

z2

30

39

7

..

;



Program list

A2:=2%*(1/2);
A3:=3**(1/2);
B2:=(l/22)+(1/A2)*;
LET B1l**2=B2;
LET B3=B2**2;
ViX:=1;
V1iv:
V1Z:
VIX:
v2Y:
V2Z: H
L:=3**(1/2);
ViXU:=V1iX/L;
ViYU:=V1ivY/L;
ViZUu:=v1Z/L;
V2XU:=V2X/L;
V2YU:=V2Y/L;
V2ZU:=v2Z/L;
CLEAR L;
CLFAR V1iX,V1Y,V1Z,V2X,V2Y,V2Z;
C:=V1ZU-1;
PVIX:=VIXU*(~1)*(1/C);
PV1Y:=V1YU*(-1)*(1/C);
CLFAR V1XU,V1YU,V1ZU,C;
C:=V2Z2U0-1;
PV2X:=V2XU* (-1)*(1/C);
PV2Y:=V2YU*(-1)*(1/C);
CLFAR VzZXU,V2yYU,v2ZIU,C;
L1:=((PVIX)**2+(PV1Y)**2)**(1/2};
L2:=((PV2X)**2+ (PV2Y)**2)**(1/2);
CLEAR PV1X,PV1Y,PV2X,PV2Y;
Si:=L1;
S2:=81*B3;
S3:=52*B3;
S4:=53*B3;
Tl:=L2;
T2:=T1*B3;
T3:=T2*E3;
T4:=T3*B3;
CLFAR L1,L2;
Fl:=(Z1-S1*Z2)*(Z1-S2*Z22)*(21-S3*22)*(21-S4*Z22);
F2:=(Z1-T1*22)*(Z1-T2*Z2)*(Z1-T3%*Z2)*(21-T4%22);
CLFAR S1,€2,83,84,71,72,T3,T4;
P:=F1*F2;
CLFAR F1l,F2;
1:=1*B2;
S2:=[*B2;
S3:=(-1)*B2;
S4:=(-I})*B2;
Fl:=(Z1-S1*Z2)*(Z1-8S2*22)*(21-S3*22)*(21-S4*22);
CLEAR S1,52,53,S4;
Q:=Z1*Z2*F];
CLFAR F1l;
R:=B2+E2**7;
V2X:=1+R;
V2Y:=1;
V2Z:=1+R;
V3X:=1+R;
V3Y:=14R;
Vv3Z:=]1;
V5X:=1+R;
V3Y:=1;
V5Z:=-1-R;
V6X:=1+R;
V6Y:=1+R;
V6Z:=-1;
L= (1+2* (1+R)**2) **(1/2);
CLFAR R;
V2XU:=V2X/L;
V2YU:=V2Y/L;
V2ZU:=Vv2Z/L;
V3iXU:=V3X/L;
V3YU:=vV3Y/L;
V3ZU:=V3Z/L;
V5XU:=V3X/L;
V3YU:=V3Y/L;
V52U:=V5Z/L;
V6XU:=VeX/L;
VeYU:=V6Y/L;
V6ZU:=V6Z/L;
CLEAR V2X,V2Y,V2Z,V3X,V3Y,V32Z,V5X,V5Y,V5Z,V6X,V6Y,V6Z;
CLEAR L; -
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C:=v2ZU-1;

PV2IX:=V2XU* (=1)*(1/C);

PV2Y:=V2YU* (=1)*(1/C);

CLFAR C;

C:=V3iZU-1;

PV3X:=V3IXU*(~1)*(1/C);

PV3Y:=V3YU* (-1)*(1/C);

CLFAR C;

C:=V3ZU-1;

PVSX:=V3XU* (-1} *(1/C);

PV3Y:=V3YU* (-1)*(1/C);

CLEAR C;

C:=V6ZU-1;

PVEX:=V6XU* (-1)* (1/C);

PVEY:=VEYU* (~1)*(1/C);

CLFAR C;

CLEAR V2XU,V2YU,V2ZU,V3XU,V3YU,V3ZU;
CLFAR V5XU,V3YU,V3ZU,V6XU,V6YU,V6ZU;
Ll:=((PV2X)**2+ (PV2Y)**2)**(1/2);
L2:=((PV3X)**2+ (PV3Y) **2)**(1/2);
L3:=((PV3X)**2+ (PV3Y)**2)**(1/2);
L4:=((PV6X)**2+ (PV6Y) **2)** (1/2);
CLEAR PV2X,PV2Y,PV3X,PV3Y,PV5X,BV5Y,PV6X,PVEY;

Sl:=L1*B1;
52:=S1*B2Z;
S3:=52*B2;
S4:=S3*B2Z;
S3:=S4*82;
S6:=S3*E2;
S7:=S6*B2;
Sg:=57*B2;
Tl:=L2;

T2:=T1*B3;
T3:=T2*R3;
T4:=T3*B3;
Jl:=L3*B];
J2:=J1*B2;
J3:=J2*B2;
J4:=J3*B2;
J3:=J4*22;
J6:=J5*B2;
J7:=J6*B2;
J8:=J7*E2;
Kl:=L4;

K2:=X1*B3;
K3:=X2*B3;
K4:=K3*B3;

CLFAR L1,L2,L3,L4;
Fl:=(Z1-S1*Z2)*(Z1-S2*Z2)* (Z1-S3*22)*(Z1-S4%22)*(Z1-5S5%22)*(Z1-S6*
Z2)*(Z1-§7*22)*(Z1~-58%22);
F2:=(Z1-T1*Z2)*(Z1-T2*22)*(21-T3%22)*(Z1-T4%22);
F3:=(Z1-J1*22)*(Z1-J2*22)*(Z1~-J3%22) *(21-J4*%22)* (21-J5%22)* (Z1-J6*
Z2)*(21-J7*22)*(Z21-J8*22) ;
Fd:=(Z1-K1*Z2)*(Z1-K2*Z2)*(Z1-K3*%Z22)*(Z1-K4*22);
CLFAR S1,52,53,54,55,56,S7,58;
CLEAR T1,T2,T3,T4,K1,K2,K3,K4;
CLEAR J1,J2,J3,J4,J5,36,37,38;
F5:=F1*F2;
CLEAR F1,F2;
F6:=F3*F4;
CLFAR F3,F4;
:=F3*F6;
CLEAR F5,F6;
C1:=835302744395575440;
€2:=1180872205318713601;
C3:=C1*A2-C2;
CLFAR C1,C2;
F7:=F*(1/(C3));

GP:=F7*C3;
CLEAR F7,C3;
V1X:=3;
V1ivy:=0;
V3iZ:=1;
V2X:=1;
v2Y:=3;
V2Z:=3;
V3iX:=0;
V3Y:=0;
V3Z:=-1;
V4X:=0;
vdy:=1;
V4Z:=3;

V12MX:=(V1X+V2X)/2;
V12MY:=(V1Y+V2Y)/2;
V12MZ:=(V1Z+V2Z)/2;
V23MX:=(V2X+V3X)/2;
V23MY:=(V2Y+V3Y)/2;
V23MZ:=(V22Z+V3Z)/2;
V24MX:=(V2X+V4X)/2;
V24MY:=(V2Y+V4Y) /2;
V24MZ :=(V2Z2+V4Z) /2;
CLFAR VI1X,V1Y,V1Z,V2X,V2Y,V2Z,V3X,V3Y,V3Z,V4X,V4Y,V4Z;
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Gl:=V12MX/L1l;
G2:=V12MY/L1;
G3:=VI2MZ/LLl;
G4:=V23MX/LZ;
G3:=V23MY/L2;
Go:=V23MZ/LZ;
G7:=V24MX/L3;

G8:=V24MY/L3;
G29:=V24MZ/L3;

Ll:=((VI2MX)** 2+ (VIZMY) **2+ (VIIMZ) **2) ** (] /2);
1= ((V23MX) ** 2+ (VIIMY) # %2+ (V23IMZ) **2) ** (1/2) ;
((V24MX) ¥ * 24 (V24MY) ** 24 (VI4MZ) **2) %% (1/2);

CLFAR V12MX,V12MY,V12MZ,V23MX,V23MY,V23IMZ,V24MX,V24MY,V24MZ;

CLFAR L1,L2,L3;

Hl:=G1l*(~1)*(1/(G3-1)

G2*(~1)*(1/(G3~1)

H3:=G4*(-1)*(1/(G6~1)

G3*(-1)*(1/(G6~1)
G7*(-1)*(1/(G9-1))

HE:=C8*(-1)*(1/(G%-1));

CLFAR G1,G2,G3,G4,G5,G66,G7,G8,G9;
L4:=(H1**2+H2**2)**(1/2);
LS:=(H3**2+H4**2) ** (1/2);
LE:=(HS**2+HE**2)** (1/2) ;

CLTAR H1,H2,H3,H4,H5,H5;

S1l:=L4*B2;
§2:=S1*E3;
S3:=852*B3;
S4:=S3*B3;

L5*B2;

T1*B3;
T3:=T2*B3;
T4:=T3*B3;

U4:=U3*B3;
CLEAR L4,L35,L6;

Fl:=(21-S1*Z22)*(Z21-S2*%72)*(Z1-S3*Z2)*(21-54*22);
Fe=(Z1~-T1*Z2)*(Z1-T2*Z2)*(Z1-T3*Z2)*(21-T4*22);
F3:=(Z1-ULl*Z2)*(Z1-U2*Z22)*(Z1-U3*Z2)*(Z1-U4%*22);
CLFAR S§1,52,53,54,T1,7T2,T3,T4,U1,U2,U3,U4;,

R:=F1*F2*F3;; _
CLEAR F1,F2,F3;

Pl:=1/2;
P2:=(A3+1)/2;
V1i4MX:=P1;
V1i4My:=P1;
V14MZ:=P2;
V24MX:=P2;
V24MY:=P1l;
V24MZ:=P1;
V34MX:=P1l;
V34MY:=P2;
V3i4MZ :=Pl;
V15MX:=P2;
V15MY:=P1;
VI3MZ:=~P1;
V23MX:=P1l;
V25MY:=P2;
V23MZ:=-P1;
V56MX:=Pl;
V36MY:=P1l;

V36MZ:=~P2;

Ll:=((VL4MX) **2+(V14MY)**24+ (V1I4MZ) #*#*2)**(1/2) ;

L4:={(
L3:=((V23MX) ** 2+ (V23MY) ** 2+ (V25MZ) ** 2y ** (1/2) ;
=((V36MX) ** 2+ (VS6MY) **¥ 24 (V36N %) ** (1 /2);

((V24MX) ** 2+ (V24MY) ** 2+ (V24MZ) **2) **(1/2) ;
((V34MX) ¥ * 2+ (V34MY) ** 24+ (V3I4MZ) **2)**(1/2);
(VISMX) ** 2+ (VISMY) **2+(V1SMZ)*#%2)** (1/2);

L6:

GlXU:=V14MX/L1;
GlYU:=V1dMY/L1;
GlZU:=V14MZ/L1;
G2XU:=V24MX/L2;
G2YU:=V24MY/L2;
G2ZU:=V24MZ/L2;
G3XU:=V34MX/L3;
G3YU:=v34My/L3;
G3ZU:=V34MZ/L3;
G4XU:=V15MX/L4;
G4YU:=V13MY/L4;
G4ZU:=V15M2Z/L4;
G3XU:=V25MX/L5;
G5YU:=V23MY/L5;
G32U:=V25MZ/L5;
GEXU:=V56MX/L6E;
G6YU:=V36MY/L6;
G62U:=V56MZ/L6;

CLEAR V14MX,V14MY,V14MZ,V24MX,V24MY,V24MZ,V34MX,V3I4MY,V3I4MZ;
CLFAR V13MX,V15MY,V13MZ,V25MX,V25MY,V25M2,V56MX,V56MY,V56MT;
CLFAR L1,L2,L3,L4,L5,L6;



PV1IX:=GlXU*(-1)*(1/(GlzU-1));
PV1Y:=GlYU* (-1)*(1/(G1ZU-1));
PV2X:=G2XU* (-1)*(1/(G22U-1))
PV2Y:=G2YU* (-1)*(1/(G2Z2U-1));
PV3IX:=G3IXU* (~-1)*(1/(G3ZU-1})
PV3Y:=G3YU*(-1)*(1/(G3ZU~1));
PV4X:=G4XU* (-1)*(1/(G42U-1));
PV4Y:=G4YU* (-1} *(1/(G4ZU-1))
PV5X:=G3XU* (-1)*(1/( GSZU—l)),
PV3Y:=G35YU*(-1)*(1/(G32U-1));
PVEX:=G6XU*(-1)*(1/(G6ZU-1));
PVEY:=G6YU*(~1)*(1/(C6ZU-1));

CLEAR G1XU,GlYU,GlZU,G2XU,G2YU,G2ZU,G3XU,G3YU,G32U;
CLFAR G4XU,G4YU,G4ZU,G5XU,G5YU,G5ZU,G6XU,G6YU,G6ZU;
Sl:=((PV1IX)+(PV1Y)*I[)*B2;

’
;
H
’
1
H
’
‘

S2:=S1*B3;

$3:=52*B3;

S4:=53*B3;
Tl:=((PV2ZX)+(PV2Y)*[)*B2;
T2:=T1*B3;

T3:=T2*B3;

T4:=T3*B3;
Ul:=((PV3X)+(PV3Y)*I)*B2;
U2:=U1*B83;

U3:=U2*%B3;

Ud:=U3*E3;
Jl:=((PV4X)+(PV4Y)*T)*B2;
J2:=J1*E83;

J3:=J2*B3;

J4:=J3*B3;
Kl:=((PV3X)+(PV3Y)*[)*B2;
K2:=K1*E3; '
K3:=K2*B3;

X4:=K3*B3;
Nl:=((PV6X)+(PVEY)*I)*B2;
N2:=N1*B3;

N3:=N2*B3;

N4:=N3*23;

CLEAR PV1X,PV1Y,PV2X, PV2Y,PV3X,FV3Y,PV4X,PV4Y,PV5X,PV5Y, PV6X,PV6Y;
CLEAR L1,L2,L3,L4,L5,L6;
Fl:=(Z1l- S‘*Zz)*(zl S2*Z2)*(Z1-S3*Z2)*(Z21-54%*22);
F2:=(Z1-T1*Z2)*(21-T2*22)*(Z1-T3*22)*(Z1-T4*22);
F3:=(Z1-ULl*Z2)*(Z1-U2*%Z2)*(Z1-U3*Z22)*(21-U4*Z2);
Fd:=(Z1~J1*Z2)*(Z1~J2*22)*(21-J3*22)*(21-J4%Z22);
F5:=(Z1-K1*Z2)*(Z1-K2*22)*(Z1-K3*Z2)*(Z1-K4%22);
FE:=(Z1-N1*Z2)* (21-N2*Z2)*(Z1-N3*2Z2)*(Z1-N4*22);
CLEAR S1,€2,5S3,54,T1,T2,T3,T4,ULl,U2,U3,U4;
CLFAR J1,J2,33,J4,K1,K2,K3,K4,N1,N2,N3,N4;
F13:=F1*F2*F3;
CLEAR F1,F2,F3;
F20:=F4*F3*F6;
CLEAR F4,F5,F6;
F32:=F10*F20;
CLFAR F1Q,F11;
C1:=76042493;

=13170961;
C3:=Cl*A3-C2;
CLEAR C1,C2;
F31:=F30*(1/C3);
CLEAR F33;
S:=F31*C3;
CLFAR F31,C3;
R**2-p**3_-]108*Q**4,;
Cl:=12*((167933*A3)/28361);
C2:=12*%(283251/28561;;
C3:=C14C2;
CLEAR C1,C2;
S—-P**34C3*Q**4;
CLEAR C3;

=4*(16*A2-13);
GP_P**3_<‘1*Q**4;
CLEAR P1l;
R2:=P1l**3+108*Q1l**4;
S1l:=Pl**3-C5*Ql**4;
G2:=Pl**3+C6*Ql**4;
Tl:=((S1**2)*R2-(G2)**3)/(Ql**4);
T2:=T1**(1/4);
(S1**2)*R2-(G2)**3-(Q1l*T2)**4;
(SI**z)*RZ*(Ql*TZ)*#z (Gz)**B*(Ql*TZ)**z (Ql* 2)#*6;

°_G2'

Y:=(Ql*T2)**2;

=S1*(R2)** (1/2)*(Q1*T2);
AR LKL E AL KT
END;



09
B
*F2;

8 4 4 8
Z1 - 14*Z) *z2 + 22
1%22*F1;

4 4

s Z1*Z22*(2)1 + Z2)

C3;
24 (1/2) 22 4 23 4 (1/2) 16 8 16 8 (1/2) 12 13
1 + 64%2 #71 *72 - 94%Z21 *72 4 238%2 *Z1 %722 4 383¥Z1 *I2 4+ 384*2 ¥Z21  ®722
1/2) 4 29 4 23 24
2 (1/2) 8 16 8 16 ) ( ) . o .
140w2112¢22 ! + 236*2 *Z1 *Z2 + 383*Z1 *22 + 6492 ®Z1 %722 = 94%Z1 %72 22

12 8 4 4 8 12
= Z1l + 33%Z1 *72 - 33%T1 *2z - 72



24 1/2 20 4 23 4 1/2 16
S 1= (28351%Z1 = 29148729%3 *Z1 %22 - 4503374%21 *72 - 935923393‘ /L)*ZL ﬁzzg v 3223503%%
(1/2) 12 12 12 12 (1/2) 8 18 8 16
- 1292889273 #71 %22 - LOL1E4383%*ZT1 *22 - 855%200%3 #Z1 ¥22  + 32£33)93%71 %22
(L/2) 4 29 4 29 24
- 2714839%3 ®#Z1 *22 - 453S374%21 *IZ 4+ 283551%*22 )/28551

CLEAR F31,C3;
R**Z2-FP**3-108%Q*"4;

9
Cl:=12*((167920*A3)/28361);

(1/2)
Cl := (2214899%*3 )y/28561

C2:=12*(283251/28561);
C2 := 33990212/28561
C3:=CLl+C2;

(1/2)
C3 := (12*(167923*3 -+ 283251))/28581

CLFAR C1,C2;
S-p**3+C3%Q¥H4;
[

CLFAR €3;
Cl:=4*(16%A2-13);

(1/2)
Cl = 4*(16*2 - 13)

GP-P#¥3-CL¥Q*#4;

0

R2:=P1**3+108%@1%%4 3

3 4
R2 = P1 + 108*Q1

S1:=P1#*3-CS5*Q1#%4]

4 3
51 = = (5%@1 + P1

G2:=P1#*3+CH*QTu%43

4 3
G2 = C6*Q1 + P1

T1i=((S1**2)*R2-(G2)**3)/(Q1**4) 3

2 3 4 2 8 . 6 34 38 23 4 6 6
T1 2= €5 #P1 *@1 4 108#C5 *Q1 = 2%CS#P1 = 216%xC5#*P1 *Q1 =~ C& #Q1 = 34C6 P71 #@1 ~ 3#C6%P1 + 108%P%
T2:=T1%%(1/4)3
2 3 4 2 8 6 3.4 3 8 2 3 4 6 6
T2 1= (C5 #P7 *Q1 + 108%C5 #@1 = 2+C5+P1 = 216%C5+P1 #Q1 =~ C6 +Q@1 = 3#Cé =P1 *Q1 - 3#C6#P1 + 10&*F1 )

(ST**2)*R2-(G2) **3=(Q1*T2) **43

0

(ST1#22) *R2*(Q1*T2)*%2-(G2)*#3*(Q1*T2)*#2-(Q14T2)**63
0



0
[¢RY)

4 3
1+ P1

yRu )

34 2 8 6 34 38 2 3 4 6 L6 ey 2
«P1 %Q1 + 108%CS *@1 = 2%CS«P1 = 216%C5%P1 #Q1 = C5 *Q1 = 3%C6 =P1 %Q1 = 3aC6kP{ + 108#P1 ) #Q 1

PEF(1/2)%(Q1%T2) 3

3 &4 2 8 [ 3 4 3 8 2 3 & 6 4 (1743 3
*P1 %Q1 & 108%(C5 #@1 = 2x(5#P1 =~ 216«(5%P1 #Q1 -~ (& *@% = 3»Cs& #P1 *Q@7 - 3=(4*PT  + 108#*P1 1} (Pt ¢

& (1/72: & 3
J8*@1 ) ®*Q1x{ - (5281 + P% )

ND;



